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1. wo o wpgsoe vhsem L s,

(1) y=2%+4z (2) y=22—-8x+15
(3) y=a?—2z—2 (4) y=2*+4z+3
(5) y=a%+ 10z + 24 6) y=a2>+4z+7
() y=2%—4z+8 (8) y=2%+6x+11
(9) y = 2?4+ 10z + 23 (10) y = 2% + 10z + 29

— 13th-note —
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D R 2 B R TS LA S,

1) y=a*+z-2 (2) y=2%*—4z -2
(3) y=12*—4z (4) y=2*+3z+2
(5) y=22+4z —4 (6) y=22+5x+5
(N y=a2*42-3 8) y=a2—-3z—4
9) y=2?-3z (10) y=2%+2z+5

— 13th-note —
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3. o> 2 BIE R T LA S,

(1) y=2*>—8z—6 (2) y=42? — 24z — 2
(3) y=—2>—6x+4 (4) y=—22%+ 12z
(5) y = =522 +20x — 5 (6) y =522 — 10z — 2
(7) y = —4a?® — 162 + 1 (8) y =52+ 10z +6
(9) y =522 + 30z — 10 (10) y =322+ 62— 6

— 13th-note —



— EAH5ER 0105-3
4. o2 witor v osem Lis S,

(1) y=—4a? -4z +7 (2) y=—42>—-32+6
(3) y =222+ Tz +2 (4) y=—42®>+2—-6
(5) y=—-222 -z -5 (6) y =22>+ 9z + 6
(7) y = —4a® —8x — 3 (8) y =322 +8x+4
(9) y=—-222+3x+5 (10) y = 322 — 10z — 5

— 13th-note —



~ FH5EM 0105-3 —
5. ko 2w T L S,

(1)y=—x2—x+% (2)y:%m2—%m+%
(S)y:%xQ—l—%x—i—% (4)y:—%x2—l—%x+2
(5)y:—%x2—%x—|—2 6) y=2" -2z -1
(7)y:$2—%$+2 (8)y:x2+%x+%
(9)y:%x2—w—|—% (10)y:—%x2+%x—%

— 13th-note —



— EAH5ER 0105-3
EA5ER 0105-3

1. wo o wpgsoe vhsem L s,

(1) y=2°+4a

y=(z+2)*—4

(3) y=a2—-22 -2

y=(z—-1)*-3

(5) y =22+ 10z + 24

y=(z+5)*—-1

() y=a> -4z +38

y=(z—2)%+4

(9) y =22+ 10x + 23

y=(z+5)* -2

(2) y=a%>—-8x+15

y=(z—4)—-1

(4) y=2*+42+3

y=(zx+2)*-1

6) y=a?+4x+7

y=(zx+2)"+3

(8) y=a%+6x+11

y=(z+3)*+2

(10) y = 2% + 10x + 29

y=(z+5)*+4

— 13th-note —
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RO 2 RBEEE VT8 L7 S0,

(1) y=a*+z—2

2
_ 1) _9
(o)

—4

(5) y=a?+4x — 4

y = (x+2)° -8

(N y=2+2-3

~ EA5ERK 0105-3 —

(2) y=2a2 -4z -2

2

y=(x—2)"—6

(4) y=a>+ 3z +2

2
_ 3y _1
y=(a+3) -1

(6) y=a®+5bx+5

2
_ 5\ _ 95
y_<w+2) 4

(10) y=2®+22+5

— 13th-note —

y=(r+1)°+4
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3. o> 2 BIE R T LA S,

(1) y=2*>—8z—6 (2) y=42? — 24z — 2
y = (x—4)° — 22 y=4(x—3)°—38
(3) y=—2>—6x+4 (4) y=—22%+ 12z
y=—(x+3)*+13 y=—2(x—3)°+18
(5) y = =522 +20x — 5 (6) y =522 — 10z — 2
y=—5(x—2)°+15 y=5(x—1)° -7
(7) y = —42? — 16z + 1 (8) y =522+ 10x +6
y=—4(x+2)*+17 y=5x+1)*+1
(9) y = 52% + 30z — 10 (10) y =322+ 62— 6
y=5(xz+3)°—55 y=3(@x+1)>°-9

— 13th-note —
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D 2 WBEE A S ER LR SV,
(1) y=—42> — 4o +7

2

(3) y=222+T7x+2

7\’ 33
—2 ) ===
v=2(=+7)

(7) y=—42® —8x — 3

y=—4(x+1)*+1

(9) y=—-22>+3x+5

2
3 49
— 92(x— 2 22
Y (a: 4> +

(2) y=—42%> — 32 +6

2
3 105
= —4 — —_—
Y (ac—|— 8) + 16

(6) y=22>+92+6

2
9 33
=2 2) - 22
Yy <w+4> 8

(8) y =322 +8x+4

2
4 4
—3 =) -=
Yy (w+3> 3

(10) y = 32% — 10z — 5

2
5 40
—3(z—2) — 22
Y ( 3) 3

— 13th-note —
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(1) y:—xQ—x-l-%

2
__ 1y .19
Yy = (w—i—2> +12

L2 2 02
(3)y-2:c —|—3sc—i—3 .

1 2 4
y_2< +3> T
_ 2., 1

2 3 67
= ——\| X —_— -
Y 3< +8> LD

(7) y:xz—%x—i—Z

2
y:<w_l>+1l

_ 2 2 5 2
(2)y—3m CL‘-I-3 .
yo 2 (p_ 15" _ 161
3 8 96
4) y= %x2+%x+2
2
__1(. _9 99
=73 < 4) * 16
6) y=a2? -2z -1
y=(z—1)"—2
_ 2,5 .1
(8)y—x+3w+32
_ o) _ 13
v= w+6> 36
10 3=~ e
_ 5y 1\ _ 9
Y=y 5 20

— 13th-note —



